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OXd=2Mei2240l€ W3 XA 10,000
O&¥=+2 SEUs X 4,000
OAOIEEUE sdXH 16,800
Osgdad =103 Mzl X 3,000
oS¢y MsUs N
6,000,000& 7 & 42,000
O=glod Msal AN 88,000
—&==ZHs3 25,000
—SHNSE 9,000,000& *7H S 63,000
O¥+==20Ad MU M 10,000
O HUA el X 10,000
MENE WY 160,330 136,500 23,830
| 66,240
S 8,865
s 85,225
307 glz2tol & 160,330 136,500 23,830
| 66,240
< 8,865
s 85,225
02 RIZHE A E X 160,330 136,500 23,830
OMEMsX X BHXI AL 66,240
| 33,120
[ia 33,120
oozd H=gs N& 66,240
| 33,120
= 33,120
ouegHsus 29 12,700
< 3,810
s 8,890
ORAad 5704 X 8,400
< 2,470
s 5,930
OZEXNEXN 29 6,750
< 2,585
[ia 4,165
HE HRX™ AIEAY 16,800 15,960 840
| 11,760
< 2,520
[ 2,520
301 L2 A Z 16,800 15,960 840
| 11,760
< 2,520




SN SHUSBYAYL
dM: ZoHsE 84
&©e: ZUME 245t (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 2,520
01 Al EE E 563 16,800 15,960 840
OAZ=HISH AIEALS 16,800
| 11,760
< 2,520
= 2,520
ME =2 ss¢e 2 XA 26,500 29,700 A 3,200
< 8,000
= 18,500
307 Qiz2tol & 26,500 29,700 A 3,200
< 8,000
i 18,500
02 RIZHE A8 X 26,500 29,700 A 3,200
Odeds ss2leld N 26,500
< 8,000
i 18,500
g+ AXXZY 29 70,000 70,000 0
307 2Iztol ™ 70,000 70,000 0
02 RIZHE A E X 70,000 70,000 0
OA2Z=2Y 294 XA 70,000
ZAIUNSHH 29 96,431 73,051 23,380
101 1A dl 21,007 15,981 5,026
4 D12t ZE2XREES 21,007 15,981 5,026
OZHAILUMSHEH MREX 12,907
—Jlas 39,000& 251 9,789
r=sg 39,000& 52 2,028
—Qx=g 39,000& 10 390
—28& 700
OMae3&d &02el 39,0003 x5 x5H «4 3] 3,900
OZAMSHH LAZTAMN AR
350,000 = 12& 4,200
201 L2 | 72,424 55,580 16,844
01 At 22l 11,750 7,800 3,950
O=eXN=sHE LAY 50,000& 115 5,750
OFA=CUNSEH 2 6,000
—gA% 2HEE 7Y 200,000& 128 2,400
—HAEZ7Y 200,000& x12& 2,400
—ANREF 7Y 100,000& =128 1,200
02 =224l 60,674 47,780 12,894
OFA=UNSEH 29 60,674
—HIQS(MOMIIZLE) 35,000
— Aot R3 300,000& »12& 3,600




2AM: A2 ALY A
¥ Z2oNE 24
oS s (29 a8)
CEH SR (BH) - NBAY - B2 o A o SSa H RS2
— HI|IHEAA =2 300,000& x12& 3,600
—OtNMAEH 8 2 150,000& = 12& 1,800
— QY22 28,0503 *201 A %12 674
- &2 50,000& x12& 600
—AYANLEY +22 (L)
550,000& *12& 6,600
—dESH(&O2D] ) 2,000
— &8=J| 22yl 200,000& *3H A~ *33] 1,800
—JIAH&EHl dYl 5,000
206 M = Hl 3,000 1,490 1,510
01 X2t 3,000 1,490 1,510
Oblg ¥ 225N =+ 3,000
—HZ37 15,000 * 100 1,500
—&=2E85H 7Y 15,000& x1004 1,500
=t MU = 65,000 0 65,000
= 10,000
= 55,000
307 QI2t0| ™ 65,000 0 65,000
& 10,000
= 55,000
04 DIZ2FSHALE &= 65,000 0 65,000
O=It &= HOE=Z2U3 M= 50,000
& 5,000
= 45,000
O=Jitl &= &320U3 = 15,000
= 5,000
= 10,000
e NEESHE 2Y 22,360 19,400 2,960
201 LEt2AY| 22,360 19,400 2,960
01 AFR2t2l bl 1,000 1,000 0
OFAEE & SF&EXFY 100,000& =103l 1,000
02 35244l 21,360 18,400 2,960
O+ NE=EE 29 21,360
— LEBHH| (LPG) 1,830& *4,000Kg 7,320
— M2 600,000& x12& 7,200
— Mol 400,000& x12& 4,800
- &2 50,000& x12& 600
—Hotdy 89 =2 120,000 x12& 1,440
> SE2EsHE 29 32,500 15,980 16,520
101 @121l 3,900 5,550 A 1,650
04 JI2ZtHI 22 XNEE S 3,900 5,550 A 1,650
O3d2sd &2 39,0003 x5 x5H x43] 3,900
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AN SEMS2ZAE A
g 2edsE |4
el Z2UMSE 243 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 26,600 8,940 17,660
01 AtR 2t 2l Hl 1,200 1,000 200
OFAEE ¥ stEXFY 100,000& »12& 1,200
02 s3=9Hl 25,400 7,940 17,460
OSE2sd & S3HFAE 22 25,400
—dIIe= 800,000& »12& 9,600
—dote=R=3 500,000& »12& 6,000
—HIHEBNMN =2 170,000& »12& 2,040
—SH2HI(&T2I]) 2,000
— AL AA H&HF==ZT (400 A)
480,000& 122 5,760
202 O 4 2,000 0 2,000
01 SLHOYI 2,000 0 2,000
OM=SAEEa ol 2,000
= SESE 24 52,596 19,130 33,466
101 @124 8] 21,106 5,550 15,556
04 DIt 22 XS+ 21,106 5,550 15,556
OZEEZJE &ri&el 39,0003 x5 5 »43] 3,900
O33MEAIE 22 92 17,206
=zs 47,300 251 11,873
—F25< 47,300 x52& 2,460
—EEF0t 200,000& »23] 400
—dAx=g 47,3002 x10& 473
— 282 2,000
201 fEt2E | 30,000 8,940 21,060
01 AtR 2t 2l | 1,200 1,000 200
O3t & F2ES 7Y 100,000& =122 1,200
02 s3=3Hl 28,800 7,940 20,860
OHdIIR3 1,000,000 x12& 12,000
Odot=E=s 500,000& x12& 6,000
O&EJItE A =2 500,000& »12& 6,000
OLYHHAMN U =2 250,000& »12& 3,000
OetEd e =3 150,000& =123 1,800
206 M =8l 1,490 1,490 0
01 M=l 1,490 1,490 0
Otlg & HM=H 2¢ 1,490
—Hls+ 13,0003 502 650
—HM=M 7L 12,000& »70€ 840
MSAL &= 3,348,214 6,067,674 A2,719,460
& 728,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,620,214
HEAE |FX2e 509,810 137,000 372,810
201 Let24] 1,330 3,000 A 1,670
01 At 22l 1,330 3,000 21,670
OddaaE g 2 130
—E=3Z4 53
— AL EL 77
oStz 2¢ 1,200
202 O4dl 1,000 4,000 A 3,000
01 = LH 4 Hi 1,000 4,000 A 3,000
O2A5Y MSAME FX 2L 1,000
401 Al HIZ 201 8] 507,480 130,000 377,480
01 A& HI 500,000 130,000 370,000
OMSAE KX 50,000
OZANEZSE &84 £X 450,000
02 2feldl 7,480 0 7,480
OFANMSZY s 2l
400,000,000 *1.87% 7,480
ME3d &8 AMd 1,532,104 3,001,192 A 1,469,088
& 458,000
s 1,074,104
401 Al HIZ 201 I 1,532,104 3,001,192 A 1,469,088
& 458,000
s 1,074,104
01 A& HI 1,526,000 2,991,000 A 1,465,000
OuH? MsI LM (EH) 1,526,000
& 458,000
[ia 1,068,000
03 Al 2 THHI 6,104 10,192 A 4,088
Once M2 L (MAH)ANE2UYI
1,526,000, 000& *0. 4% 6,104
HABESSH USH HLAY 1,006,300 0 1,006,300
2 270,000
= 736,300
401 AIEHI L 201 1,006,300 0 1,006, 300
= 270,000
[ia 736,300
01 A& HI 1,000,000 0 1,000,000
O+Z2L82sd USEHMLAS 1,000,000
& 270,000
s 730,000
03 A& S THHI 6,300 0 6,300




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB+ BE2SE USENLASAL =]
1,000,000, 000& *0.63% 6,300
HYE OHMS2 ASAY X 300,000 0 300,000
401 A& HIZ 201 I 300,000 0 300,000
01 A& HI 300,000 0 300,000
ONgesaEMs2 AFAMY 300,000
H=e23% 243 & s 54 825,000 752,760 72,240
< 59,000
i 766,000
NE2sZIR 29 825,000 752,760 72,240
< 59,000
e 766,000
301 et a = 825,000 752,760 72,240
< 59,000
e 766,000
No=t - 2sRES24=3 825,000 752,760 72,240
o=t =0 461,000
Of=&= dHl 180,000
OUsl&&Hl 34,000
< 20,000
s 14,000
OMEE 24l 150,000
< 39,000
i 111,000
2FES 3,688,148 1,538,258 2,149,890
& 1,819,000
J| 54,500
< 7,400
e 1,807,248
ZHZI|BHAIE &= 3,379,642 1,386,473 1,993, 169
& 1,819,000
s 1,560,642
FE0S 2ZAE K 55,076 112,337 A5T7,261
101 @14 Hl 11,956 11,618 338
04 JIZHHZE2XNEE S 11,956 11,618 338
OETHHIE Al 2 2e|els 29 11,956
—Jlzs 39,0003 229 x1H 8,931
—SE52E 39,000 482 «1H 1,872
== 1,153,000 1,183
201 2et24d] 37,120 40,239 A3,119
01 At 2teltl 14,600 16,480 A 1,880
OZMHEIEAIZ 29 14,600
—282 M 600& 10,0005 6,000




FA: 2SHS2ZAG A
Ny BEIE
SRl ZHFIBAIE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— Mgz =8 ¢ 200,000& =63] 1,200
—HAREY =2 1,300,000& »23] 2,600
—dHAE HE Y 200, 000& *53] 1,000
— sy 5 7Y 100,000& x4 3] 400
— 2Bt At EHI 100,000& =12 1,200
—d24)] A2dis(udy)
200,000& *13] 200
— &2l 5,000& * 10074 x4 3 2,000
02 =224l 22,520 23,759 A 1,239
OZMHIEAZ 2223 22,220
— oY ¥ Hales 50,000& 12& 600
oot 2Ae|E 824 160,000& 128 1,920
—UARS 150,000 128 1,800
— &3tz EA 300,000& =12 300
— Ay 2eld8d 2,000,000& =13l 2,000
—dIRea 1,300,000& 128 15,600
OF&ELs0s MRS 25,000 128 300
401 AIEHI L 20HYI 6,000 60,480 A 54,480
01 A& HI 6,000 60,480 A 54,480
OFEV=0IE DY BLIA
6,000, 000% * 14 & 6,000
Aelatd 2t X o e 45,646 24,126 21,520
201 et 13,000 10,000 3,000
03 &AL2 I 13,000 10,000 3,000
OHM9al Xelatd XIS M=stal &It
13,000,000& *13] 13,000
308 XXM SO A 32,646 14,126 18,520
05 HXSHHARE = 32,646 14,126 18,520
ORXNelaH2ZZINLXE 23 32,646
— XXM 2E3 12,646
—Xelatd A2EA 20,000,000& =14 20,000
AelatA 220300l 294 33,340 38,340 A5,000
=1 20,000
[ia 13,340
308 XiXI &I S0 & 33,340 38,340 A5,000
& 20,000
[ia 13,340
05 HXSHHM2URE = 33,340 38,340 A5,000
OXlelatd 2Zotatdlol 299 33,340
& 20,000
s 13,340
Nelatd SN s2HAIE =4 30,000 30,000 0
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EXN: SHSHZTAIE A
M AZBANES
SHol: EEIIBAIL BB CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
. 18,000
- 12,000
308 XNHXIGHH SO0l & 30,000 30,000 0
2 18,000
= 12,000
05 AXISHHZ2ZES 2 30,000 30,000 0
OXelaH SXHIF sEtAIE 284 30,000
2 18,000
= 12,000
Telad s=23 B0S AY X4 430,000 650,000 A220,000
= 258,000
= 172,000
308 XX SHHSOIH 430,000 650,000 A 220,000
2 258,000
= 172,000
05 ANXSHHZ2REES S 430,000 650,000 A 220,000
OXeltd 5=235 2SS AEXY 430,000
2 258,000
= 172,000
XNeldtd AN 2ZASIHY 35,000 60,000 A 25,000
2 21,000
= 14,000
308 XHXIEHSOIA 35,000 60,000 A 25,000
2 21,000
= 14,000
05 ANXSHHZ2ZESZ2 35,000 60,000 A 25,000
ORXelad AN 22AEINE 35,000
= 21,000
= 14,000
XNeldtd 78 701 4 70,000 66,670 3,330
2 42,000
= 28,000
308 MXISHHMSOIA 70,000 66,670 3,330
2 42,000
o 28,000
05 RRSHAH2AESZ 70,000 66,670 3,330
OX2l&a 7570 sS4 70,000
2 42,000
= 28,000
T2l a2 fRLX ELAY 400,000 400,000 0
= 360,000
= 40,000
308 AXIEHSOIA 400,000 400,000 0
2 360,000
= 40,000
05 ANXSHHZ2EES 2 400,000 400,000 0




FA: 2SHS2ZAG A
Hu: pEAE
SHol: BBIIBAIL =B EERED
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORXelad 2Ll X =dAd 400,000
= 360,000
i 40,000
014 Xiel&td 229 of 166,670 0 166,670
& 100,000
[ia 66,670
308 XX EHH SOl A 166,670 0 166,670
= 100,000
[ia 66,670
05 AXSHHLESES 166,670 0 166,670
02014 X2l &3 L2 off 166,670
& 100,000
i 66,670
JtoF2std 262X HY 8,000 5,000 3,000
308 AHAIEHHSOIA 8,000 5,000 3,000
05 HXNHMARE = 8,000 5,000 3,000
OJiotZstd 23 8,000
Jtof2std Es/aAs 2,500,000& »23| 5,000
JtorEstd UHXIEH MstHal &t
3,000,000& =13l 3,000
A el d2t2 X oHe 2,105,910 0 2,105,910
& 1,000,000
s 1,105,910
401 AIEHIZL 28I 2,105,910 0 2,105,910
= 1,000,000
[ia 1,105,910
1T AIZHI 1,979,106 0 1,979,106
OU3H el d22X N 1,641,606
& 820,803
e 820,803
OU=H 22X g A A& A 237,500
& 118,750
s 118,750
OUZ2H 22X JHY S X004l 100,000
02 2feldl 120,894 0 120,894
OU=H elid2t&2X Heg 2eldl 120,894
o 60,447
s 60,447
03 Al 2 THHI 5,910 0 5,910
OU=H ald2tZX MY A& 5,910
222X A A0H 308,506 151,785 156,721
J| 54,500
S 7,400
s 246,606
2ZEE2HP YUE 115,856 68,669 47,187
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AN SEMS2ZAE A
I 2AFAE
¢ 2ABESLMEIANS (9 ® =)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @124 H] 11,956 25,669 13,713
04 DIt Z22XsSE+ 11,956 25,669 13,713
O2A=01 SHAHE 2 (=M 11,956
—Jl=2= 39,0003 x229 1 8,931
ReErdsE 39,000 48 «1H 1,872
- 28 1,153,000& 1,153
201 fet2E | 65,900 40,000 25,900
01 At 22l bl 60,900 35,000 25,900
OAZELZ=HH 35,900
— S ZOFLHZR XA & 10,000& *2,000% 20,000
E2EcISHMHA 300& %30,000% 9,000
—SE2SERE USEMHMH 500& x5,000% 2,500
- 400,000& * 114 4,400
O2FISSHH 25,000
—&==dA 5,000& *3,000H 15,000
— AFZHAE DI 5,000& 2,000H 10,000
02 524t 5,000 5,000 0
OAFEEL= 78 28 & HHiek= 2,390
- S 1,000& *2,0000HK 2,000
—Hile=s 6,500& 602 390
o&lIes 2,610
—Olgs2s 200,000 =123 2,400
— AN &€= 17,500& 122 210
202 o4 4l 3,000 3,000 0
01 ZLHO I 3,000 3,000 0
oM FX S2ES 2,000
O 8ix o 1,000
207 1R 2yl 35,000 0 35,000
02 & &HH 2| 35,000 0 35,000
O=2t22SHO0IX HE & 2Hredd o
35,000, 0003 »14] 35,000
BYEYR YLK 32,650 24,545 8,105
Il 7,500
S 6,500
Ea 18,650
201 fet2E | 1,500 1,500 0
Jl 345
[ 300
= 855
01 At 2t 2l bl 1,500 1,500 0
O2st2B A 225 7Y 1,500
Jl 345
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EXN: SHSHZTAIE A
Yy BYNE
¢ 2ABESLMEIANS (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
[ 300
- 855
301 et A= 31,150 22,445 8,705
J| 7,155
& 6,200
= 17,795
10 HALAHI 2 A2 31,150 22,445 8,705
Ot 2ol & A RIJALL 31,150
Dl 7,155
= 6,200
= 17,795
ZEZOHHEXE AX L IHES ALY 80,000 0 80,000
J| 40,000
= 40,000
201 et d| 16,000 0 16,000
J| 8,000
= 8,000
01 AFR 2t 2| bl 16,000 0 16,000
OU=0¢ 20ZotUHXN= M 16,000
J| 8,000
= 8,000
401 AlEHIZ 2 0HY| 64,000 0 64,000
J| 32,000
= 32,000
01 Al&H| 64,000 0 64,000
O2ALHHEXE AX L HES 64,000
J| 32,000
= 32,000
2 2| 238 A} 50,000 0 50,000
307 QI2t0| ™ 50,000 0 50,000
04 QI2tSHALE & 50,000 0 50,000
O& ZJ| St AL 50,000
22X LA QAMEIEXZ 20,000 0 20,000
301 et A= 20,000 0 20,000
12 JIEtE2 &= 20,000 0 20,000
ORI 20 AI AHEIEXZ
5,000 4,000 20,000
el HRKH AFY 10,000 10,000 0
J| 7,000
= 900
= 2,100
301 et A= 10,000 10,000 0
J| 7,000
& 900
= 2,100
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EXN: SHSHZTAIE A
Ny BEIE
Tl RIEEEYAHIATINA (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 Al E& A 46 2 10,000 10,000 0
OO0 HH 2 A AL ES 10,000
Jl 7,000
== 900
= 2,100
HHSHAH (SIS ZAIEA) 52,040 55,024 A2,984
olad 2 A Y| 11,630 7,360 4,270
ol A | 11,630 7,360 4,270
101 21 214| 6,750 3,800 2,950
03 RIAHLZ2ZZ2XE S 6,750 3,800 2,950
OlnsiMEE = 750,000 x9H 6,750
203 AR E= | 4,880 3,560 1,320
02 AAADJMALA 2 =X H| 680 560 120
OFJIatE 28| 40,000 x17H 680
04 EASHEIRFEH| 4,200 3,000 1,200
OFRNMSI YR 350,000 x12& 4,200
Jl2dHl 40,410 47,664 NT,254
Jl2 &4l 40,410 47,664 NT,254
201 YEr2 Y| 32,250 37,944 ~5,694
01 AP 2t 2] d| 27,650 34,352 ANB,702
OSSHS2HZAIA A d=AH|
50,000 513 25,650
OMBRA MNER=E 500,000& *x43| 2,000
02 224 H| 4,600 3,592 1,008
OMEBANSRZ 300,000 x12& 3,600
OAMEBR A A= gA22 1,000
202 044l 8,160 9,720 AN 1,560
01 2Ll 8,160 9,720 AN 1,560
NS89 20 8,160
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